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01 Al&H| 11,550 88,660 AT7,110
024t 770,0002* 10CH 7,700
OBnEx 770,000 %5CH 3,850
RATHE ot 2te| CHEESFEA 43,840 17,361 26,479
201 L2 3| 4,560 8,560 24,000
01 AtR2elt] 4,560 8,560 24,000
OSIRB| (ARG, I S2E) Baac
100,00024%1021%23] 2,000
OEETIIOVEIE=EESS)
8,000& x40 1x804 2,560
202 01t 5,280 4,800 480
01 =UH0ib] 5,280 4,800 480
ORI i 243
110,000 #4091 128 5,280
203 LRF&| 1,000 1,000 0
03 Al HFERHRFEIH| 1,000 1,000
OReITHRE] L SHAPEE
1,000,000 1,000
302 O =L ol 2al= 33,000 3,001 29,999
02 BRIIHL =P =2 33,000 3,001 29,999
OMaHZ A0l 12 SR RFH X
3,000,000& 3,000
ORI2H0l KB AB(HHXI2 D)
30,000,000 30,000
KHOH Ol 2 AFS 9,660,000 14,826,000 A5, 166,000
7 4,571,000
& 2,294,500
= 2,794,500
STEE 29 18,000 18,000 0
& 9,000
i 9,000
307 212t01™ 18,000 18,000 0
= 9,000
i 9,000
EEE 18,000 18,000 0
OZ40l BEHI(ABBEHLSIIZED)
18,000,000& 18,000
& 9,000
= 9,000
s A SUKE X7 HUIALS 1,641,000 1,200,000 441,000
s 820,500
= 410,250
= 410,250
401 Al L2001 1,641,000 1,200,000 441,000
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s 820,500
& 410,250
i 410,250
01 AlEH| 1,641,000 1,200,000 441,000
OSZXT STAK SUAHXY FlAe
1,641,000,0002 1,641,000
s 820,500
& 410,250
i 410,250
CHEXI SZAK SUKIE XS HUIALS 3,501,000 1,200,000 2,301,000
s 1,750,500
& 875,250
i 875,250
401 Al&HIZ 20| 3,501,000 1,200,000 2,301,000
s 1,750,500
= 875,250
i 875,250
01 Al&H| 3,501,000 1,200,000 2,301,000
OUs S3AK SUK/EXS HUIALS
3,501,000,000& 3,501,000
s 1,750,500
= 875,250
i 875,250
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s 800,000
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i 900,000
401 AlEHIZL 2018 2,100,000 2,000,000 100,000
s 800,000
= 400,000
i 900,000
01 Al&Hl 2,100,000 1,993,000 107,000
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2,100,000,000& 2,100,000
s 800,000
= 400,000
i 900,000
SHH KHATHHRIEINS X7 EEIA 1,400,000 1,200,000 200,000
s 700,000
= 350,000
i 350,000
401 AlEHIZL 08I 1,400,000 1,200,000 200,000
s 700,000
& 350,000
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s 300,000
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597,900, 000& 597,900
s 300,000
= 150,000
i 147,900
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=2A S3AK SUKE XS HUIALS 200,000 0 200,000
s 100,000
& 50,000
i 50,000
401 Al&HIZ 20| 200,000 0 200,000
s 100,000
= 50,000
i 50,000
01 Al&Hl 200,000 0 200,000
O2A S3AK SUKAEX S HUIALS
200,000, 000& 200,000
s 100,000
= 50,000
i 50,000
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s 50,000
= 25,000
i 25,000
401 AlEHIZL 048I 100,000 0 100,000
s 50,000
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s 50,000
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401 AlEHIZL 20| 100,000 0 100,000
s 50,000
= 25,000
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01 AlZHI 100,000 0 100,000
OdUl S3AHKI SU/EXS FHIA
100,000,000 100,000
s 50,000
= 25,000
[ia 25,000
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= 204,929
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= 25,121
[ia 1,145,196
=)HEESAY sz A 35,887 35,887 0
= 25,121
[ia 10,766
201 ZEH= | 35,887 35,887 0
< 25,121
[ia 10,766
02 SE=24H| 35,887 35,887 0
O SEY MEE 35,886,670 35,887
< 25,121
[ia 10,766
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02z 78,880 101x064 2! 20,825
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0UBIASH U NBEMS
16,600,0002x 122 199,200
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90,0002 %103 900
OSTHUARY &X X2
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0BESAIEE S8 16,175,000 %12 194,100
04D SHAIRA SN2 KA
450,000+ 122 5,400
206 THEH] 4,100 4,100 0
01 X2l 4,100 4,100 0
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OZHMIAIE MAHA! UPS HHEIR| WA
17,000,000 17,000
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202 Ot 9,600 9,600 0
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206 M=l 6,000 6,000
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0HLEE 416,797,680 %3.545% 14,776
0VRLEE 14,776,00024%12.81% 1,893
OCCTVRHHIZ N2 L AT 22 222 11,462
01E=E 416,797,680 *1.75% 7,294
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405 KHAHE SH 289,000 0 289,000
01 AU 2EFSY| 289,000 289,000
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